

a) • $a_1 x + a_2 y + a_3 z = 0, a_i \in \mathbb{C}$

$\Rightarrow \forall n \in \mathbb{N}: a_1 \frac{z}{n} + a_2 \frac{z}{n^2} + a_3 \frac{z}{n^3} = 0$

-/z $a_1 + a_2 \frac{1}{n} + a_3 \frac{1}{n^2} = 0 \xrightarrow{\text{lim. } n \rightarrow \infty} a_1 = 0$

-/z $a_2 + a_3 \frac{1}{n} = 0 \xrightarrow{\text{lim. } n \rightarrow \infty} a_2 = 0 \Rightarrow a_3 = 0$

• $\tilde{e}_1 := \frac{x}{\|x\|}, e_2 = x + cy = x - \frac{\|x\|^2}{\langle y, x \rangle} y$

$0 = \langle e_2, x \rangle = \langle x + cy, x \rangle = \|x\|^2 + c \langle y, x \rangle \Rightarrow c = -\frac{\|x\|^2}{\langle y, x \rangle}$

$\tilde{e}_2 = \frac{x - \frac{\|x\|^2}{\langle y, x \rangle} y}{\|x - \frac{\|x\|^2}{\langle y, x \rangle} y\|} \Rightarrow \tilde{e}_1 = \left\{ \frac{1/m}{\sqrt{\sum \frac{1}{n^2}}} \right\}$

$\tilde{e}_2 = \frac{1/m - \left(\frac{\sum \frac{1}{n^2}}{\sum \frac{1}{n^2}} \right) \frac{1}{m^2}}{\| \dots \|}$

• $\mu = \langle z, \tilde{e}_1 \rangle \tilde{e}_1 + \langle z, \tilde{e}_2 \rangle \tilde{e}_2$

b) $(T_n)_m = i^{n-1} x_{n-1}$

• $\|T_x\|^2 = \sum_{n \in \mathbb{Z}} |i^{n-1} x_{n-1}|^2 = \sum_{n \in \mathbb{Z}} |x_{n-1}|^2 = \sum_{k \in \mathbb{Z}} |x_k|^2 = \|x\|^2$

• T linear $\Rightarrow T \in \mathcal{L}(\ell_2(\mathbb{Z}))$ $\|T\| = 1$

• $Tx = y \Rightarrow i^{n-1} x_{n-1} = y_n \Rightarrow i^k x_k = y_{k+1} \Rightarrow x_k = i^{-k} y_{k+1}$

$\Rightarrow T^{-1}$ existuje $\|T^{-1}\| = 1$ ječo vyjše $\Rightarrow \|T\| \leq 1$

• T^{-1} existuje $\Rightarrow T$ má ľubovoľný

• $Tx = \lambda x, \lambda \in \mathbb{T}$

$i^{n-1} x_{n-1} = \lambda x_n \Rightarrow$
 $x_1 = \lambda^{-1} i^0 x_0$
 $x_2 = \lambda^{-2} i^{2-1} x_1 = \lambda^{-2} i^1 i^0 x_0$
 $x_3 = \lambda^{-3} i^{2-1} i^1 i^0 x_0$
 \vdots
 $x_n = \lambda^{-n} i^{n-1} \dots i^0 x_0$

$$\Rightarrow |x_n| = |x_0|, n \geq 1 \Rightarrow x_0 = 0 \Rightarrow x_n = 0, n \geq 1$$

$$x \in \ell_2(\mathbb{Z})$$

$$\Rightarrow i^{-1} x_{-1} = \lambda x_0 \Rightarrow i^{-2} x_{-2} = \lambda x_{-1} \Rightarrow x_n = 0, n \leq 0$$

$$x_{-1} = 0 \quad x_{-2} = 0$$

$$\Rightarrow x = 0 \Rightarrow \sigma_p(T) = \emptyset$$

• $\lambda \in \mathbb{T}$ adms, $y = \langle \{0\} \rangle \Rightarrow i^{n-1} x_{n-1} - \lambda x_n = y_n, n \in \mathbb{Z}$

$$n=0 \Rightarrow i^{-1} x_{-1} - \lambda x_0 = 0$$

$$n \geq 1 \Rightarrow i^0 x_0 - \lambda x_1 = 0 \Rightarrow x_1 = \lambda^{-1} i^0 x_0$$

$$i^1 x_1 - \lambda x_2 = 0 \Rightarrow x_2 = \lambda^{-1} i^1 x_1 = \lambda^{-2} i^1 i^0 x_0$$

$$\vdots$$

$$i^{n-1} x_{n-1} - \lambda x_n = 0 \Rightarrow x_n = \lambda^{-n} i^{(n-1)} \dots i^0 x_0$$

$$\Rightarrow |x_n| = |x_0| \Rightarrow x_0 = 0 \Rightarrow x_n = 0$$

$$n \geq 1$$

$$n \leq -1, \quad i^{-2} x_{-2} = \lambda x_{-1} \Rightarrow x_{-2} = i^2 \lambda x_{-1}$$

$$i^{-3} x_{-3} = \lambda x_{-2} \Rightarrow x_{-3} = i^3 \lambda x_{-2} = \lambda^2 i^3 i^2 x_{-1}$$

$$\vdots$$

$$i^{-n} x_{-n} = \lambda x_{-n+1} \Rightarrow x_{-n} = i^{-n} \lambda x_{-n+1} = \lambda^n i^{-n} \dots i^2 x_{-1}$$

$$\Rightarrow |x_{-n}| = |x_{-1}| = 1, n \geq 1 \Rightarrow x \notin \ell_2(\mathbb{Z})$$

$$\Rightarrow \lambda \in \sigma(T) \Rightarrow \sigma(T) = \mathbb{T}$$